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If r * | , Find the values for all the Trig functions,

Let p = (arb) a point on the terminal

side of 0 that intersects the circle

EI:., If (* 5 ,I2) is a point on the terminal side of an angle

Trig. Functions.

b)

e , frnd the exact value for the remaining

.'FP

ez +bz :12

1) sine function:
2) cosine function:
3) tangent function:
4) cotangent function:
5) secant function:
6) cosecant function:

sind =
cos? =
tan? =
cot? =
Secd T
CSCQ ^

Notg: lf r *l othenwehaveaunitcircle.Weconcludethat a'+b'-1 and

sind= , eos?= , tan?- , eet9= , SoCd= , QSQ?=

Ex: tllt p(x,-{ris on the unit circle such that x > 0, find cotl where p is on the terminal side

of the angle of d radians.

Findins the exact values of the six Tris. Functions of quadfantel aneles

f=b
odj
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srn

cos

tan

7n

Finding Exact values Trie funqtions of gpecial anslesi

1) 0 = 4S',

2) e = 30'

or 60'

7T#or
4

n
-or6

3) 0 -o
3



Ex: Find the exact value of each expression.

r) .6 tan++zco s+33
s) sec30'sin 45"

Notes:

, 2) sgc 7r *csc L
2

sin(n +0 ) -
cos(n +0 ; =
tan(n +0 ; -

sin(2rc +0 ; -
cos(2n +0 ) -
tan(Zn +0 ) -

sin(6+0)=
cos(t + 0 )-
tan(t+0),
sin(f + 0) =
cos(++e)=
tan($+e)r

. 377
,3) sln _ +tann ,4)

2
3 csc 60o + cot45',

1) Odd and eYen Trig. Functions

2) Trig. Function signs.

BrpDVCINq..FTII{.9,TIQNS qq AN AIY,QI-IF IIY Al{X PVAPRAI{T

1) sin(n 4 ):
2) cos(n -0 ) =
3) tan(ru -0 ) -
4) sin(2n -0 ) =
5) cos (2n -0 ) =
6) tan(2n -0 ) =

,

)

)

-NglE;. 1) tf 0 is an acute angle, then

any function of (2n+ 0),

(2n- 0),( ru+ 0) or (n- 0)

is reducible to the same-named

function of 0,

2) whereas any function of

(nl 2*0), (n/2 +0), (3 n I 2-0)

or (3 nl2+0) is reducible to

the complementary-named

function of e

7n
,6)co

6

7)sin(f*0)= e

8) cQS(t*e ) =

\tan(t- 0 ) =
ro)sin(f-e)=
il) cos(+-e ) =
t2)tan(S*e)=

Ex: Evaluate

Hx:, Find the exact value for

r; sinl5O' ,21 cosgLl ,3) sec 210' ,t1 tan300' , s; sin(-n)

tan60" + tanl50'



Ex: If coSB = -0.3 find

cos(-P) + cos(z - 0) +cos(5a + 0) - cos(6n - 0)

E Using odd and even function definition evaluate the following.

rl sin(9 * n) =
2) cos(P - t) =
q tan(O - 2rc) -

EI: Find-the x coordinate of p(Xr./) on the unit circle and on the terminal side of the ungu -A
6

Ex: If crJtl = *+, find att possible vatues ror 0 ror 0 ( g <2n
V3

EX: Suppose that the terminal point determine dby 0, is the point (+,4)' '25'25'
on the unit circle. Find the terminal point determined by 0 -3n .

EX: Suppose that the terminal point determine d bV 0, is the point (L,4)
25'25'

on the unit circle, Find the terminal point determined by -0 - 4n .

EX: Suppose that the terminal point determine d by n * 0 , asthe point f**,41
25'25',

on the unit circle. Find the terminal point determined by 8tr - 0 .

FX: lf d is an acute angle and the terminal side is determinedby 0, then the terminal side determined
by 5n + 0 will be in quadrant,

EX: lf 0 is an acute angle and the terminal side is determined by 0, then the terminal side determined

by e J+ will be in quadrant.'2

_a
2

Aleebr+ -q*esfiqn; Simplify
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